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o LV factorization of a matron A

• Iterative (numerical ) methods for An -
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• Inverse A⇒
.

Condition number of matrin

Topic { • Eigenvalues and eigenvectors
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• Square matlin # rows = # columns

o Symmetric nothin AT = A ( square matron)
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• lower triangular matron
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Ann is lower triangle
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Diagonal matron
Ann is called diagonal matei-
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a square matin Amn
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and upper triangle
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We call u and L , Lu fabrication of matin A
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• IN decomposition is possible for invertible square
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A = 15' is

1) is a upper triangle mature .


